
Bar table , bar chair
Precautions:

1.  It is recommended to wear gloves for assembly to protect hands from injury,

2. When assembling, please strictly follow the installation direction and order in the instruction manual.

3.Tighten the screws after two or more parts have been successfully assembled, Tightening the screws early will

cause the parts to be disassembled and reassembled.

4.Please place all parts correctly to avoid unnecessary trouble.

Thank you for your patience in reading,. Wish you a happy life!

Assembly Instructions



1

A

A

C

B

B
D

E

F

G

G

G

G

J

J

H

H
I

I

K

M

M

ML
L

L
L



2

Part list

 x 4  x 4  x 2  x 2  x 2  x 2

 x 4  x 2  x 2  x 2  x 1  x 1

 x 3

 x 36

Hardware list

1 2 3

 x 8  x 8

4 5 6

 x 2  x 18  x 8

 x 12

7 8 9

 x 4  x 4

M6*35 M6*30 M6*H8 M8*15 M6*15 M6*30

st4.8*22

M8 M8 10 11

 x 1  x 1

M6 M8

A B C D E F

G H I J K L

M



Step 1

 x 2 x 4  x 4  x 1

3

1 10

10

1

1

A C

A

A

C

 x 2



Step 2

4

 x 2 x 4  x 32  x 11 10B D  x 2E

B

B

D
E

1

1

1

1

1

1

1

1

1

1
1

1

1

1

10

 x 2

1

1



Step 3

5

 x 2  x 8  x 12 10F

F

2

2

2
2

10

 x 2



Step 4

6

 x 83

3

3

3

3

 x 2



Step 5

7



8

Step 6

 x 2

 x 4  x 2  x 14 118

8

8

4

11

Step 7

 x 2 x 4  x 2  x 1I 10G H

10 G

G

5

5

5

5
H

I

5  x 8

 x 2



9

Step 8

 x 4 x 3  x 110M L 7  x 12

7
7

7

7
7

7

7
7

7

7
7

7

10

J

J

K

Step 9

 x 1 x 2J K

M
M
M

L

L

L

L



10

Step 10

 x 8 x 105 6  x 110

5

5

5

5
5

5

5

5

5

5

6

6
6

6
6

6
6

6 10



11

Step 11

 x 49

9

9

9

9



12

Step 12


